"€V Hed 01 06 ‘esimisyi( gV Med 818|dwod 'ss|ge198||0d wol) sasso| |erided uo suieb [ended Aue spew noA §|

*a|npayds | ) 3y} Jo Y Med ul sjoqe| Buipuodsatiod
9y} 03 aA0qe ) O} |\l PuUe | 0} Y 1€ Sjunowe ayj Jajsue) ‘(s|npayds 19) LOOZ 2|npPayss (1DD) xe3 suieb |ejide) e a3a|dwod 03 paau nok §|

9V Sv v 144 (44 LV | (9DAD) suteb [eyides Jeak juaiind |ejoi-gng
n 1 S I H D | swane | D7) Jayio Aue pue s1asse | D) Y10
y (o] d 4 3 a alelse |eay
(o) N N o) q v (SISNJ1 HUN Ul) SHUN pue saJeys
poyiaw poyiaw poyiaw poyiaw
poyiaw suiel Junoosip uonexspul poyiaw suieb JunodsIp uolexspul
[eudes 1ay1Q, |- suieb jeuder|— suieb [euded |eudes uay1Q, |- suieb jeude)|—suieb jeuded

$9|qe129]|0d wouy suleb [euded ueyy Jayio — uieb jeuded
e SOPN|DUl 18y} 1SNJ] B WOJ} UOIINQLIISIP B IO SIUSAS | ©)) pue s1asse | ) wod) suleb [euded Jeak Juann) :Ly wed

SNIVD 1VLIdVI dVIA LNIJHIND 1VLOL <._.~_<n_

‘sjenpinlpul Aq peiejdwod aq o) paledipul sdels
Jo sued ayy Ajuo e18|dwiod ‘|enpiaipul ue ase noAk Ji ‘s|duwexe 104 ‘adA1 s Jahedxel syl 4o} paiedipul 1@8ysyiom siy Jo sdeis uo sued ayy Ajuo e1ejdwio))

‘spunyj pue sysniy ‘ssiuedwod ‘(diysisuiied ul sisupied |enpialpul Buipnppul) S|eNpIAIPUI JO SN 841 104 SI 198YSYIOM SIy |

2010 uoneXE] UBlensny

A SNYNLIY XVL L0—000Z ¥OA
LITFHSHIOM AYVININNS 1DD

dNIT d3110d SNO1TV dvil



Part A2: Capital gains and capital losses from collectables

Capital gains —|Capital gains —| ‘Other’ capital| Current year
indexation discount gains method | capital losses
method method
Current year capital gains (CYCG) and current| C1 c2 C3 c4
year capital losses (CYCL) — from collectables
Capital gains from collectables received as a | C5 Cé6 Cc7
distribution from a trust — grossed up at C6
as required
Total CYCG from collectables cs8 c9 C10

Step A2.1 Apply any current year capital losses from collectables

Capital gains —|Capital gains —| ‘Other’ capital | Total CYCL from
indexation discount gains method | collectables
method method applied
CYCL from collectables applied 1A 1B 1C 1D
CYCG from collectables after applying 1E 1F 1G
CYCL from collectables
In each column, the amount in the row 1A to 1C cannot exceed the amount in the row €8 to C10.
The amount at 1D cannot exceed the amount at C4.
Step A2.2 Apply any prior year net capital losses (PYNCL) from collectables
PYNCL from collectables available 2A
Less any adjustment for commercial debts forgiven| 2B
Remaining PYNCL from collectables available 2C
Capital gains —|Capital gains —| ‘Other’ capital| Total PYNCL
indexation discount gains method |from collectables
method method applied
PYNCL from collectables applied 2D 2E 2F 2G
CYCG from collectables after applying J K L
CYCL and PYNCL

In applying the PYNCL from collectables, the amount in each column of row 2D to 2F cannot exceed the amount at Step A2.1 in each column

at row 1E to 1G. The amount at 2G cannot exceed the amount at 2C.
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PART Uﬂcxmmz._. YEAR CAPITAL GAINS (CYCG) FROM PART A

Non-active assets

Capital gains —|Capital gains —| ‘Other’ capital| |Capital gains —|Capital gains —| ‘Other’ capital
indexation discount gains method indexation discount gains method
method method method method
Total current year capital gains (CYCG) | A7 A8 A9 A10 A11 A12
from Part A

If you showed current year capital losses at D in Part B, complete Step D1. Otherwise, go to Step D2.

Step D1 Apply current year capital losses against total current year capital gains at row A7 to A12 above

Non-active assets

Capital gains —|Capital gains —| ‘Other’ capital | | Capital gains — Capital gains —| ‘Other’ capital|  Total
indexation discount gains method indexation discount gains method CYCL
method method method method applied
Current year capital losses applied 3A 3B 3C 3D 3E 3F H
CYCG after applying CYCL 3G 3H 31 3J 3K 3L

In applying the current year capital losses, the amount in each column in row 3A to 3F cannot exceed the amount in row A7 to A12.

The amount at H cannot exceed the amount at D in Part B.

If you need to complete a CGT schedule:
Add the amounts at columns 3A and 3D above and transfer the total to label E in Part D of the CGT schedule.
Add the amounts at columns 3B and 3E above and transfer the total to label F in Part D of the CGT schedule.
Add the amounts at columns 3C and 3F above and transfer the total to label G in Part D of the CGT schedule.
Transfer the "Total CYCL applied’ amount at H to label H in Part D of the CGT schedule.

If you have prior year net capital losses (PYNCL) proceed to complete Step D2. Otherwise, for individuals, trusts and funds go to Part E.

For companies, go to Step D3.
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If the company needs to complete a CGT schedule:
Add the amounts at columns 5A and 5D above and transfer the total to label M in Part D of the CGT schedule.
Add the amounts at columns 5B and 5E above and transfer the total to label N in Part D of the CGT schedule.
Add the amounts at columns 5C and 5F above and transfer the total to label O in Part D of the CGT schedule.
Transfer the "Total capital losses transferred in” amount at P to label P in Part D of the CGT schedule.

PART m CURRENT YEAR CAPITAL GAINS (CYCG) AFTER APPLYING CAPITAL LOSSES

Non-active assets

and capital losses transferred in

Capital gains —|Capital gains —| ‘Other’ capital
indexation discount gains method
method method
CYCG after applying CYCL, PYNCL A B (ot

Capital gains —| Capital gains —|‘Other’ capital
indexation discount gains method
method method
D E F

If you need to complete a CGT schedule, transfer the amounts at A, B, C, D, E and F to the corresponding labels in Part E of the CGT schedule.

PART ﬂ CGT DISCOUNT ON CAPITAL GAINS

To be completed by individuals, trusts and funds only. Companies go to Part G.

Calculate the CGT discount applicable to the capital gains at B and E in Part E by applying the discount percentage — 50% for individuals and trusts and

3374% for complying superannuation entities (Fund tax return). Show the amount of the discount at J and K respectively, then deduct the discount
amounts at J and K from the amounts at B and E respectively in Part E.

Non-active assets

Capital gains —|Capital gains —| ‘Other’ capital
indexation discount gains method
method method
Discount amount J
CYCG after capital losses and discount | 6A (A above) 6B (B above - J)| 6C (C above)

Capital gains —|Capital gains —| ‘Other’ capital
indexation discount gains method
method method
K
6D (D above) 6E (E above —K) | 6F (F above)

If you need to complete a CGT schedule, transfer the amounts at J and K to the corresponding labels in Part F of the CGT schedule.
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PART — UNAPPLIED NET CAPITAL LOSSES (UNCL) CARRIED FORWARD TO LATER INCOME YEARS

7 UNCL from collectables ; H ;

7 UNCL from other CGT assets 7 | ;

7 UNCL carried forward to later income years | V
(H+1)

If you do not need to complete a CGT schedule, transfer the amount at H and | to label V — Net capital losses carried forward to later income
years in your tax return.

If you need to complete a CGT schedule, transfer the amounts at H and | to the corresponding labels in Part | of the CGT schedule.



